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13. 8, —20,50, =125, ... 14. 0.45,0.9,1.8,3.6, ...

Determine whether each sequence is arithmetic or geometric. Write a function rule for the sequence.
15. 2,4,6,8, ... 16.6,1,—4,-9, ... 17. 0.04,0.12,0.36, 1.08, . ..
18. 14,21,28,35, ... 19. 7, —21,63, —189, . .. 20. 18,9,4.5,2.25, ...




21.
On the first swing, a pendulum swings through an arc length of 36 cm.  On each successive swing, the length of arc is 90% of the length of the previous swing.  Write an equation to model the situation.  Find the length of the arc on the sixth swing.

